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@ FAHAERR

TRk 29 EE

<BtE>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~
HEE (N) 9 201 658 873 781 310 42
41.4 42.5 42,4 41.3 38.7 35.2 31.3
BAFE (ke) +53 | +58 |=+58 |=+54 |+52 |+49 |[+39
0.328 |0.321 |0.321 |0.326 |0.342 10.356 |0.389
SERIGERE #) | [0 028 | £0.032 | £0.030 | £0.031 | +0.036 | +0.045 | +0.056
38.6 70.3 51.2 31,1 18.8 1.7 5.1
wh (b
RERAREIS () | L1561 | 1510 | =469 | +31.5 |+19.6 | +11.8 | £3.2
N 2.5 2.7 2.3 2.4 3.0 0.2 2.0
REEHAIUE (om) | 150 | 196 |+92 |+9.0 |+91 |+9.0 |90
‘_ 22.0 20.7 20.0 18.0 14.9 12.0 8.3
ERECL @) | '3 | 450 |50 | 449 |+47 |+41 | =48
VO2max 35.5 34.7 33.8 33.3 32.9 33.2 31.8
ml /kg/min) +3.9 | +6.0 |=+52 |=+50 |+46 |+44 |=+49
<%&E>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~
HEE (N) 4 44 202 319 300 120 14
244 | 25.6 26.2 24.6 23.5 22.1 19.0
BAFH (ke) +3.1 | %39 |=+43 |+36 |=+35 |=+32 |=+37
0.335 |0.348 |0.351 |0.354 |0.367 |0378 |0 388
it % i\
SERIGERE #) | [0 033 | £0.024 | +£0.035 | +0.033 | +0 041 | £0.051 | =0.045
75.3 57.8 476 33.2 18.0 9.5 71
wh (b
RERARELS () | (138 | 4482 |+42.1 |+33.8 | =192 | +9.8 |=7.5
N 13.0 |9.5 8.2 8.5 10.7 10.4 10.1
REWAIE (om | 5 |64 |+86 |+7.6 |+7.4 |+69 |68
\_ 15.8 13.8 12.8 10.1 7.8 71 10.0
EREL @) | 6 | 439 |x46 |+49 |48 |48 |+22
V02max 33.8 | 28.7 29. 4 29. 1 28. 7 28.7 27.5
ml /kg/min) +4.1 |+49 |+43 |+51 |+52 |+50 |=+46




TR 20 G

@ KhEkE
<Btt>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ 8k tez
(N) | (%)
10, 20 me& L 0 34 211 373 252 53 2 925 | 31.6%
F A 6 120 370 439 414 169 11| 1,529 | 52.3%
10%%% 3 47 16 62 117 92 25 422 | 14.4%
20m%5 5 0 2 8 12 16 6 ) 49 1. 7%
a&t (N) 9 203 665 886 799 320 43| 2,925 100
<zMH>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ ki tez
(N) | (%)
10, 20 &L 1 4 64 106 79 13 0 267 | 26.3%
F e G 2 29 113 179 169 66 4 562 | 55.3%
10%% % 1 10 25 34 51 38 8 167 | 16. 4%
2055 0 1 2 ) / 4 2 21 2. 1%
ait (N) 4 44 204 324 306 121 14| 1,017 | 100.1




